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A\?h.Republic of Egypt
B e Ministry of Education —
pietion of the basic education certificate

! Examinatiun 2(
sebra, statistics 16 for our sons abroad

(700 A ) sl econd Term)

. Time : 2 hours
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2 e (A S &) gl e 2,
ol uestions:

First question: Cho
(1) The solution set

“"m'."".‘k‘“‘u);h.dlkﬂp.q): A 4.

Calculator is allowed

ose the correct answer of the following:
of the equation 9 — 2 = 0is

(@ 3 b 2 "0is.......
i A \ (c)){3,-3}
(2) pr(a) o P(al) then P(a) ey 1 VC) {3, 3} (d)o
a) 1 . 1
(a) S (b) - (c) 0.25 (d) zero
(3 If n(x) = >t - then nl(x)=.....
_4 P~
i (b) =~ (©3 (d)=
(4)If a,b are two mutual exclusive events theﬁ P(aub)=... |
(a) P (a) (b)P (@) P (a) + |
| ‘ )+ P (b) (d) P (b)
(5)Ifx=3&y2=x+6theny= ........... L
(a) 10 (b) 3 (c)-3 \/(8) +3
(6) The set of zeros of the function fix)=x (x+1)is ...... —/
{-1,0} (b) {Zero} (c) (-1,0) (d) {-1}

Second guestion:
a) Using the formula to solve the equation x? =3x—1 inR where V5=2.226

b) Find n(x) in the simplest form and showing the domain of n. Where n(x) =22 x X t2x

x?2-9  3x2+6x
Third question:
a) Find the solution set for the two equations together x — 2y = 0, X’ + y* =20

b) If a and b are two events in a sample space of 2 random experiment and P(a)=0.6,
P(b) = 0.7, P(anb) = 0.5. Find P(a@ ) , P(aUb).
Fourth question:
a) Find n(x) in the simplest form and showing the domain of n where :
4x—16 x%+x
 x2-16 x2+5x+4
b) Find the solution set for the two equations 3x+y=35,x-y=-1.

Fifth question:

a) Prove that n; = n, where ny(x)=

x%43 ny(x) = 2x%+3
x343x’ 2 2x343x

b) Draw the graph of the function f(x) = x> — 2 . Taking that x € [-1,3]. From the graph
find the solution set for the equation: X’ —2 x =0
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